R R

RN’
PUNCH PRESS SETS No.E-9410
MLELE

S45C HER & B4R

mEHRE

I KARAF

\ AR ERTS. 100, 125,
150. 175, 200m/m

F4R

EZBE

‘ BEMHER

ERER ARG
BEMHHER
RIZRERE4

RBREZESD

L PLicd

iTes S |iEgEE (D REg @D EmemEs o) KA (241R) Eikg
901100 |PSMMO008| M 8x1.25 FNM0008 . CNMO008  BMO00875,08100.08125.08150.08175.08200 2.8
901619 [PSMMO10| M10x1.5 - FNM00O10 . CNMO010 BMO01075.10100.10125.10150.10175.10200 3.5
901761 [PSMMO12| M12x1.75  FNM0012 . CNMO0012  BMO01275.12100,12125.12150.12175.12200 4.0
901827 [PSMMO14 | M14x2 FNM0014  CNM0014 BMO01475.14100.14125,14150,14175.14200 . 6.5
901828 |PSMMO16| M16X2 FNMO016 . CNMO0016  BMO1675.16100,16125.16150.16175,16200 . 7.1
901970 [PSMMO18| M18x2.5 < FNMO0018  CNMO018 BMO1875.18100.18125.18150.18175.18200 10.0
901971 [PSMM020| M20%2.5  FNM0020 . CNMO0020  BM02075.20100.20125.20150.20175.20200  11.0
901972 [PSMM022| M22x2.5  FNMO0022 . CNM0022  BM02275.22100.22125.22150.22175.22200 11.4
901973 |[PSMM024 | M24X3 FNM0024  CNM0024  BMO02475.24100.24125,24150,24175.24200 16.0

AIEER THCADHIE. HITEFEIMA.




